Lisungen:

San

3 4=075

9:6=15

4.5 : D55

25 2 0,125=300)

6.4 1,247

3RS 045=130

0,65 : 0.26=15

13,2 :44=3

0,111 : 3,7=0,03

0,56 : D,0T=8

0,96 ; 1. 2=0.K8

7 1 2.5=68

- NEtZWeFrK e iz

lernen

g 1009

27 L 10027

0034 - 0 450,12

12.6:9=14

0,75 : 3 5=03

12 :3=04

6 0 254,24

12,1 : 0,01 1=1 100

20079 : 0,1 1=189

RA, 1 D03=2TT0

6.8 ;0,1 7=40

1.2 : 0.24=30)

zur Vollversion

6: 12=05

289: |.=17

225001 8=125

T3.5: 1,549

a4 1 1.2=10

0,08 : 00Z=4

0.56 : 0.8=0.T

4,68 : [B=026

0,25 : 15-0,008

(1,235 : 4, T=0,05

il |


https://www.netzwerk-lernen.de/Mathe-Domino-Dezimalzahlen-Division

i
ey

c
lm
(/2]
e
(&)
=
o
>
-
=
N

i

Domino:

@- NEtZWEFK 1o o=
lernen


https://www.netzwerk-lernen.de/Mathe-Domino-Dezimalzahlen-Division

